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O~ VH$ AmnH$mo `h àíZ-nwpñVH$m ImobZo H$mo Z H$hm Om` V~ VH$ Z Imobo§ &

àíZ nwpñVH$m
{df` H$moS>	 :	 31

{df`	 :	 àmMrZ B{Vhmg

AZwH«$_m§H$ (A§H$mo§ _|) : 

AZwH«$_m§H$ (eãXm| _|) : ____________________________________________________

Aä`Wr© Ho$ hñVmja

     
H$j {ZarjH$ Ho$ hñVmja

g_` : 2 KÊQ>o	 nyUmªH$ : 200

narjm{W©`m| Ho$ {bE {ZX}e
	 1.	 Bg àíZ-nwpñVH$m _| Xmo ^mJ h¡§ & {OgHo$ àW_ ^mJ _| gm_mÝ` kmZ go gå~pÝYV Hw$b 30 àíZ h¢ & 
	 2.	 Bg àíZ-nwpñVH$m Ho$ {ÛVr` ^mJ _| d¡H$pënH$ {df` go gå~pÝYV Hw$b 70 àíZ h¢ &
	 3.	 Bg àíZ-nwpñVH$m _| 100 àíZm§e (àíZ) {XE JE h¢ & àË òH$ àíZm§e {hÝXr Am¡a A§J«oOr XmoZm| _| N>nm h¡ & àË òH$ àíZm§e Ho$ {bE Mma {dH$ën 

{XE JE h¢ & BZ_| go EH$ {dH$ën H$mo MwZ b|, {Ogo Amn CÎma nÌH$ na A§{H$V H$aZm MmhVo h¢ & `{X AmnH$mo Eogm bJo§ {H$ EH$ go A{YH$ 
{dH$ën ghr h¡§, Vmo Cg {dH$ën H$mo A§{H$V H$a| Omo AmnH$mo gdm}Îm_ bJo§ & àË òH$ àíZm§e Ho$ {bE Ho$db EH$ hr {dH$ën MwZZm h¡ &

	 4.	 narjm àmaå^ hmoZo Ho$ VwaÝV ~mX, Amn Bg àíZ-nw{ñVH$m H$s Om±M Adí` H$a b| {H$ Bg_| H$moB© {~Zm N>nm, H$Q>m ̀ m Ny>Q>m hþAm n¥ï> AWdm àíZm§e 
Am{X Z hmo &

	 5.	 Aä`Wu H$j {ZarjH$ Ûmam {ZX}e XoZo Ho$ CnamÝV hr àíZ-nwpñVH$m H$s grb Imob| &
	 6.	 Aä`Wu CÎma nÌH$ (Amo. E_. Ama. erQ>) na CÎma XoZo go nhbo àíZ-nwpñVH$m Ed§ CÎma nÌH$ Ho$ g^r AZwXoem| H$mo gmdYmZrnyd©H$ n‹T> b| &
	 7.	 CÎma nÌH$ (Amo. E_. Ama. erQ>) na Aä`Wu AnZm AZwH«$_m§H$, {df`, àíZ-nÌ H$m ghr H$moS>, CÎm[aV àíZm| H$s g§»`m VWm AZwÎm[aV 

àíZm| H$s g§»`m ñdÀN>Vmnyd©H$ {bI| AÝ`Wm CÎma nÌH$ H$m _yë`m§H$Z Zht {H$`m Om`oJm Am¡a gånyU© {Oå_oXmar ñd`§ Aä`Wu H$s hmoJr & 
	 8.	 Aä`Wu ghr CÎma {Z{X©îQ> H$aVo hþE CZ_| go Ho$db EH$ Jmobo AWdm ~~b H$mo CÎma nÌH$ na H$mboo ~m°b ßdmB§Q> noZ go nyam Jham H$a X| & 

EH$ go A{YH$ CÎma XoZo H$s Xem _| CÎma H$mo JbV _mZm Om`oJm Ed§ Cgo Om±Mm Zht Om`oJm &
	 9.	 CÎma nÌH$ (Amo. E_. Ama. erQ>) _| EH$ ~ma Jmobm ^ao OmZo Ho$ ~mX Cg_| {H$gr ^r àH$ma H$m n[adV©Z Zht {H$`m Om`oJm &
	 10.	 Aä`Wu CÎma nÌH$ (Amo. E_. Ama. erQ>) H$mo {H$gr àH$ma Z _mo‹S>| &
	 11.	 AmnH$mo AnZo g^r CÎma Ho$db CÎma nÌH$ (Amo. E_. Ama. erQ>) na hr XoZo h¢ & narjm Ho$ Cnam§V CÎma nÌH$ (Amo. E_. Ama. erQ>) H$j 

{ZarjH$ H$mo bm¡Q>m X| &
	 12.	 `{X {hÝXr `m A§J«oOr {ddaU _| H$moB© {dg§J{V hmo, Vmo A§J«oOr {ddaU ApÝV_ _mZm OmEJm &
	 13.	 `{X H$moB© Aä`Wu AZw{MV gmYZ H$m à`moJ H$aVm h¡ `m CgH$m à`mg H$aVm h¡ AWdm narjm H$j _| {H$gr àH$ma H$m ì`dYmZ H$aVm h¡, 

Vmo dh narjm Ho$ {bE A`mo½` Kmo{fV H$a {X`m Om`oJm &
	 14.	 H$moB© ^r Aä`Wu narjm H$j go ~mha Zht Om`oJm O~ VH$ 120 {_ZQ> (Xmo KÊQ>o) nyao Z hmo J`o hmo &
	 15.	 H$moB© ^r a\$ H$m`©, `{X H$moB© hmo, Bg H$m`© hoVw {ZYm©[aV Imbr nÝZm| na hr {H$`m OmZm Mm{h`o & A{V[aŠV nÝZo Zht {X`o Om`o§Jo &
	 16.	 AnZm AZwH«$_m§H$ Am{X {bIZo Ho$ {bE VWm CÎma nÌH$ (Amo. E_. Ama. erQ>) na CÎmam| H$mo ^aZo Ho$ {bE Ho$db H$mbo ~m°b ßdmB§Q> noZ H$m à`moJ 

H$a| &

O~ VH$ AmnH$mo `h àíZ-nwpñVH$m ImobZo H$mo Z H$hm Om` V~ VH$ Z Imob| &
Note : The English version of the instructions is printed on the last page of this Question Booklet.
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	 1.	 _mM© 2025 _| gwZrVm {d{b`åg Ho$ gmW n¥Ïdr na bm¡Q>Zo dmbo A§V[aj `mÌr H$m Š`m Zm_ h¡ ?
	 (A)	{dŠQ>a ½bmoda	 (B)	 Ooao_r h¡ZgZ	 (C)	 Om°Z ½boZ	 (D)	 ~wM {db_moa
		  What is the name of the astronaut who returned to earth along with Sunita Williams  in March 2025 ?
	 (A)	 Victor Glover	 (B)	 Jeremy Hansen	 (C)	 John Glenn	 (D)	 Butch Wilmore

	 2.	 _mYd amîQ´>r` CÚmZ {Ogo ^maV H$m 58 dm§ ~mK A^`maÊ` Kmo{fV {H$`m J`m, {ZåZ{b{IV _| go {H$g amÁ` _| 
pñWV h¡ ?

	 (A)	_oKmb`	 (B)	 _Ü`àXoe	 (C)	 _{Unwa	 (D)	 _hmamîQ´>
		  Madhav National Park that was declared India’s 58th Tiger Reserve is situated in which of the following 

States ?
	 (A)	 Meghalaya	 (B)	 Madhya Pradesh	 (C)	 Manipur	 (D)	 Maharashtra

	 3.	 {ZåZ{b{IV _| go {H$ZH$mo 2024 _| "^maV aËZ' go gå_m{ZV {H$`m J`m ?
	 a.	E_. Eg. ñdm_rZmWZ
	 b.	Mm¡Yar MaU qgh
	 c.	H$ny©ar R>mHw$a
	 d.	ha_ZàrV qgh
		  ZrMo {XE JE {dH$ënm| _| go ghr CÎma Mw{ZE :
	 (A)	Ho$db a	 (B)	 Ho$db a d b	 (C)	 Ho$db a, b d c	 (D)	 Ho$db a, b  d d
		  Who among the following has been awarded ‘Bharat Ratna’ in 2024 ?
	 a.	 M. S. Swaminathan
	 b.	 Chaudhary Charan Singh
	 c.	 Karpoori Thakur
	 d.	 Harmanpreet Singh
		  Choose the correct answer from the options given below :
	 (A)	 Only a	 (B)	 Only a and b	 (C)	 Only a, b and c	 (D)	 Only a, b and d

	 4.	 _hmXoB© dÝ`Ord A^`maÊ` {ZåZ{b{IV _| go {H$g amÁ` _| pñWV h¡ ?
	 (A)	_Ü`àXoe	 (B)	 CÎmaàXoe	 (C)	 N>ÎmrgJ‹T>	 (D)	 Jmodm
		  Mhadei Wildlife Sanctuary is located in which of the following states ?
	 (A)	 Madhya Pradesh	 (B)	 Uttar Pradesh	 (C)	 Chattisgarh	 (D)	 Goa

	 5.	 h_mao Xm±V H$m D$nar ^mJ H$R>moa BZo_b go T>H$m ahVm h¡ Omo _w»`V: ~Zm hmoVm h¡ 
	 (A)	H¡$pëe`_ H$m~m}ZoQ> H$m			   (B)	 _¡½Zr{e`_ \$mñ\o$Q> H$m
	 (C)	H¡$pëe`_ \$mñ\o$Q> H$m			   (D)	 H¡$pëe`_ Am°ŠgboQ> H$m
		  Our tooth crown remains capped with hard enamel which is principally made of 
	 (A)	 Calcium Carbonate			   (B)	 Magnesium Phosphate
	 (C)	 Calcium Phosphate			   (D)	 Calcium Oxalate

gm_mÝ` kmZ
General Knowledge

(Set I)
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	 6.	 EZ.B©.nr. 2020 Ho$ AZwgma _mÜ`{_H$ {dÚmb` {ejm Ho$ AÝVJ©V {H$Z H$jmAm| H$mo em{_b {H$`m J`m h¡ ?
	 (A)	H$jm 6 go H$jm 9			   (B)	 H$jm 4 go H$jm 6
	 (C)	H$jm 5 go H$jm 8			   (D)	 H$jm 6 go H$jm 8
		  Which classes are included in the middle school education according to NEP 2020 ?
	 (A)	 Class 6 to Class 9			   (B)	 Class 4 to Class 6
	 (C)	 Class 5 to Class 8			   (D)	 Class 6 to Class 8

	 7.	 {ZåZ{b{IV _| go {H$gZo g_J« {ejm H$s AdYmaUm H$m à{VnmXZ {H$`m Wm ?
	 (A)	lr Aaq~Xmo			   (B)	 ñdm_r X`mZÝX
	 (C)	ñdm_r {ddoH$mZÝX			   (D)	 Cn`w©ŠV _| go H$moB© Zht
		  Who among the following propounded the concept of Integral Education ?
	 (A)	 Sri Aurobindo			   (B)	 Swami Dayanand
	 (C)	 Swami Vivekanand			   (D)	 None of the above

	 8.	 gyMr – I H$mo gyMr – II Ho$ gmW gw_o{bV H$a| &
		  gyMr – I		  gyMr – II
	 a.	 {ejH$ {ejm	 I.	 EZ.B©.nr. 2020 H$m AÜ`m` 23
	 b.	 àm¡Úmo{JH$s H$m Cn`moJ	 II.	 EZ.B©.nr. 2020 H$m AÜ`m` 20
	 c.	 ì`mdgm{`H$ {ejm 	 III.	 EZ.B©.nr. 2020 H$m AÜ`m` 21
	 d.	 àm¡‹T> {ejm	 IV.	 EZ.B©.nr. 2020 H$m AÜ`m` 15
		  ZrMo {XE JE Hy$Q> _| go ghr CÎma Mw{ZE :
		  Hy$Q> :
	 (A)	 a – IV, b – I, c – II, d – III			   (B)	 a – IV, b – I, c – III, d – II
	 (C)	 a – I, b – IV, c – III, d – II			   (D)	 a – I, b – IV, c – II, d – III
		  Match List – I with List – II.
		L  ist – I		L  ist – II
	 a.	 Teacher education	 I.	 Chapter 23 of NEP 2020
	 b.	 Technology use	 II.	 Chapter 20 of NEP 2020
	 c.	 Professional education	 III.	 Chapter 21 of NEP 2020
	 d.	 Adult education	 IV.	 Chapter 15 of NEP 2020
		  Choose the correct answer from  the code given below :
		  Code :
	 (A)	 a – IV, b – I, c – II, d – III			   (B)	 a – IV, b – I, c – III, d – II
	 (C)	 a – I, b – IV, c – III, d – II			   (D)	 a – I, b – IV, c – II, d – III

	 9.	 EZ.B©.nr. 2020 _| B©.gr.gr.B©. H$m AW© h¡ 
	 (A)	àma§{^H$ ~më`mdñWm H$s XoI^mb Am¡a {ejm	 (B)	 àma§{^H$ ~MnZ Ho$pÝÐV {ejm
	 (C)	~MnZ H$s CÞV {ejm Ed§ XoI^mb	 (D)	 ~MnZ H$s Hw$eb XoI^mb Ed§ {ejm
		  In NEP 2020, ECCE stands for 
	 (A)	 Early Childhood Care and Education	 (B)	 Early Childhood Centered Education
	 (C)	 Enhanced Childhood Caring and Education	 (D)	 Efficient Childhood Care and Education
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	 10.	 {ZåZ{b{IV _| go H$m¡Z EH$ ^maV _| amîQ´>r` _yë`m§H$Z Ed§ àË`m`Z n[afX (NAAC) H$m àmW{_H$ \$moH$g h¡ ?
	 (A)	N>mÌm| H$mo {dÎmr` ghm`Vm àXmZ H$aZm	 (B)	 {díd{dÚmb` àdoe narjm Am`mo{OV H$aZm
	 (C)	Cƒ {ejm g§ñWmZm| H$m àË`m`Z	 (D)	 g§ñWmZm| _| Q>çyeZ \$sg H$m {d{Z`_Z
		  Which one of the following is the primary focus of the National Assessment and Accreditation Council 

(NAAC) in India ?

	 (A)	 Providing financial aid to student	 (B)	 Conducting university entrance examinations

	 (C)	 Accreditation of higher education institutions	 (D)	 Regulating tuition fees in institutions 

	 11.	 Am{W©H$ {dH$mg Ho$ {bE PURA ÑpîQ>H$moU {ZåZ{b{IV _| go {H$gHo$ {X_mJ H$s CnO h¡ ?
	 (A)	_Z_mohZ qgh			   (B)	 E. nr. Oo. AãXþb H$bm_
	 (C)	A_Ë`© goZ			   (D)	 Cn`w©ŠV _| go H$moB© Zht
		  PURA approach to economic development is the brain child of who among the following ?

	 (A)	 Manmohan Singh			   (B)	 A. P. J. Abdul Kalam

	 (C)	 Amartya Sen			   (D)	 None of the above

	 12.	 gyMr – I H$mo gyMr – II go gw_o{bV H$a| VWm gy{M`m| Ho$ ZrMo {XE JE Hy$Q> go ghr CÎma H$m M`Z H$s{OE &

	 gyMr – I 		  gyMr – II 

		  (amÁ`)		  (amîQ´>r` CÚmZ)

	 a.	amOñWmZ	 I.	 _mZg amîQ´>r` CÚmZ

	 b.	N>ÎmrgJ‹T>	 II.	 {nZ d¡br amîQ´>r` CÚmZ

	 c.	Ag_	 III.	 B§ÐmdVr amîQ´>r` CÚmZ

	 d.	{h_mMb àXoe	 IV.	 Ho$dbmXod amîQ´>r` CÚmZ

	 	 Hy$Q> :

	 (A)	a – IV, b – III, c – II, d – I			  (B)	 a – IV, b – III, c – I, d – II

	 (C)	a – III, b – IV, c – I, d – II			  (D)	 a – III, b – IV, c – II, d – I

		  Match List – I with List – II and select the correct answer from the code given below the lists.

		L  ist – I	L ist – II 

		  (State)		  (National Park)

	 a.	 Rajasthan	 I.	 Manas National Park

	 b.	 Chhattisgarh	 II.	 Pin valley National Park

	 c.	 Assam	 III.	 Indravati National Park

	 d.	 Himachal Pradesh	 IV.	 Keoladeo National Park

		  Code :

	 (A)	a – IV, b – III, c – II, d – I			  (B)	 a – IV, b – III, c – I, d – II

	 (C)	a – III, b – IV, c – I, d – II			  (D)	 a – III, b – IV, c – II, d – I
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	 13.	 [a`mo + 20 _ybV: {ZåZ{b{IV _| go {H$ggo gå~§{YV h¡ ?
	 (A)	Am{W©H$ {dH$mg			   (B)	 gVV² {dH$mg
	 (C)	OZg§»`m {Z`§ÌU			   (D)	 dZ g§ajU
		  Rio + 20 is mainly related to which of the following ?
	 (A)	 Economic development			   (B)	 Sustainable development
	 (C)	 Population control			   (D)	 Forest protection

	 14.	 "E.EZ.nr.Ama.' H$m Š`m AW© h¡ ?
	 (A)	ñdMm{bV ZoQ>dH©$ ßboQ> nhMmZ		 (B)	 ñdMm{bV Z§~a ßboQ> nhMmZ
	 (C)	CÝZV Z§~a ßboQ> nhMmZ			   (D)	 ñdMm{bV amîQ´>r` ßboQ> nhMmZ
		  What does ‘ANPR’ stands for ?
	 (A)	 Automatic Network Plate Recognition	 (B)	 Automatic Number Plate Recognition
	 (C)	 Advanced Number Plate Recognition	 (D)	 Automated National Plate Recognition

	 15.	 "gVV² {dH$mg' H$m {dMma {H$g df© ApñVËd _| Am`m ?
	 (A)	1972			   (B)	 1980	
	 (C)	2007			   (D)	 Cn`w©ŠV _| go H$moB© Zht
		  In which year did the idea of ‘Sustainable development’ came into existence ?
	 (A)	 1972			   (B)	 1980
	 (C)	 2007			   (D)	 None of the above

	 16.	 {ZåZ{b{IV _| go H$m¡Z EH$ J«rZhmCg J¡g h¢ ?
	 (A)	_rWoZ			   (B)	 hr{b`_	
	 (C)	hmBS´>moOZ			   (D)	 H$m~©Z _moZmoAm°ŠgmBS>
		  Which one of the following is a greenhouse gas ?
	 (A)	 Methane			   (B)	 Helium
	 (C)	 Hydrogen			   (D)	 Carbon monoxide

	 17.	 {ZåZ{b{IV _| go {H$go 2024 _| Zmo~b em§{V nwañH$ma go gå_m{ZV {H$`m J`m ?
	 (A)	_Xa Q>oaogm			   (B)	Am§J gmZ gw H$s
	 (C)	_bbm `ygw\$OB©			   (D)	 {ZhmoZ {hS>mZŠ`mo
		  Who among the following was awarded the Nobel Peace Prize 2024 ?
	 (A)	 Mother Teresa			   (B)	 Aung San Suu Kyi
	 (C)	 Malala Yousafzai			   (D)	 Nihon Hidankyo

	 18.	 {ZåZ{b{IV _| go H$m¡Z EH$ H$m±J«og ZoVm Ho${~ZoQ> {_eZ `moOZm Ho$ nyU©V: nj _| Wm ?
	 (A)	_hmË_m Jm§Yr			   (B)	 Odmha bmb Zohê$
	 (C)	gaXma nQ>ob			   (D)	 _m¡bmZm A~wb H$bm_ AmOmX
		  Who among the following leader of Congress was totally in favour of Cabinet Mission Plan ?
	 (A)	 Mahatma Gandhi			   (B)	 Jawahar Lal Nehru
	 (C)	 Sardar Patel			   (D)	 Maulana Abul Kalam Azad
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	 19.	 2005 _| bmJy hþE Š`moQ>mo àmoQ>moH$m°b H$m àmW{_H$ CÔoí` Š`m h¡ ?
	 (A)	àem§V _hmgmJa _| em§{V ñWm{nV H$aZm	 (B)	 d¡pídH$ H$m~©Z ~mOma ~ZmZm
	 (C)	_hmgmJar` àXÿfU H$mo {Z`§{ÌV H$aZm	 (D)	 J«rZhmCg J¡gm| Ho$ CËgO©Z H$mo H$_ H$aZm
		  What is the primary purpose of Kyoto protocol which came into effect in 2005 ?

	 (A)	 Establish peace in the pacific ocean	 (B)	 Create a global carbon market

	 (C)	 To regulate ocean pollution		  (D)	 To reduce the emission of greenhouse gasses

	 20.	 1857 Ho$ {dÐmoh Ho$ _w»` ZoVm
	 a.	amZr bú_r~mB©
	 b.	_§Jb nmÊS>o`
	 c.	~hmXþa emh µO\$a
	 d.	_ra {Zgma Abr

		  ZrMo {XE JE {dH$ënm| _| go ghr CÎma Mw{ZE :
	 (A)	Ho$db a, b, c	 (B)	 Ho$db b, c, d	 (C)	 Ho$db d, a, b	 (D)	 Ho$db c, d, b

		  Main leaders during the Revolt of 1857 

	 a.	 Rani Laxmibai

	 b.	 Mangal Pandey

	 c.	 Bahadur Shah Zafar

	 d.	 Mir Nisar Ali

		  Choose the correct answer from the options given below :

	 (A)	 a, b, c only	 (B)	 b, c, d only	 (C)	 d, a, b only	 (D)	 c, d, b only

	 21.	 J§Jm ZXr H$s Ob àdmh àUmbr Ho$ g§X^© _| {ZåZ{b{IV _| go H$m¡Z-go H$WZ ghr h¢ ?
	 a.	 ^maV _| J§Jm ZXr àUmbr g~go ~‹S>r h¡ &
	 b.	 J§Jm H$m CX²J_ CÎmaH$mer _| h¡ &
	 c.	 gVbO VWm Pob_ J§Jm àUmbr H$s ghm`H$ Z{X`m± h¢ &
	 d.	 gmoZ ZXr J§Jm Ho$ Xm{hZo VQ> H$s à_wI ghm`H$ ZXr h¡ &

		  ZrMo {XE JE {dH$ënm| _| go ghr CÎma Mw{ZE :	
	 (A)	 Ho$db a, b, c	 (B)	 Ho$db b, c, d	 (C)	 Ho$db a, c, d	 (D)	 Ho$db a, b, d

		  With reference to river Ganga drainage system, which of the following statements are correct ?

	 a.	 The Ganga river system is largest in India.

	 b.	 Ganga rises in the Uttarkashi.

	 c.	 Satluj and Jhelum are tributaries of Ganga system.

	 d.	 Son river is its major right bank tributary of Ganga.

		  Choose the correct answer from the options given below :

	 (A)	 a, b, c only	 (B)	 b, c, d only	 (C)	 a, c, d only	 (D)	 a, b, d only
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	 22.	 µI¡~a Xam© {ZåZ{b{IV _| go {H$g Xoe _§o pñWV h¡ ?

	 (A)	~m§½bmXoe	 (B)	 ^yQ>mZ	 (C)	 ^maV	 (D)	 nm{H$ñVmZ

		  Khyber Pass is situated in which of the following countries ?

	 (A)	 Bangladesh	 (B)	 Bhutan	 (C)	 India	 (D)	 Pakistan

	 23.	 "H$m°[aAmo{bg à^md' {ZåZ{b{IV _| go {H$gH$m n[aUm_ h¡ ?

	 (A)	_hmgmJar` YmamE±			   (B)	 n¥Ïdr H$m KyU©Z

	 (C)	dm`w_ÊS>br` Xm~ {^ÝZVmE±			   (D)	 MÝÐ_m H$m JwéËdmH$f©U qIMmd

		  ‘Coriolis effect’ is a result of which of the following ?

	 (A)	 Ocean currents			   (B)	 Earth’s rotation

	 (C)	 Atmospheric pressure differences	 (D)	 The gravitational pull of the moon

	 24.	 {H$ñQ>u H$mod|Q´>r, Omo A§Vam©îQ´>r` Amob§{nH$ g{_{V (IOC) H$s AÜ`j MwZr OmZo dmbr nhbr _{hbm ~Zr, {ZåZ{b{IV 

_| go {H$g Xoe go h¢ ?

	 (A)	{µOå~mãdo			   (B)	Am°ñQ´>o{b`m

	 (C)	~«mOrb			   (D)	 g§`wŠV amÁ` A_o[aH$m

	 	 Kirsty Coventry, who became the first woman to be elected as President of the International Olympic 

Committee (IOC) is from which of the following countries ?

	 (A)	 Zimbabwe			   (B)	 Australia

	 (C)	 Brazil			   (D)	 United States of America

	 25.	 {ZåZ{b{IV _| go H$m¡Z-gm/go amîQ´>r` OZg§»`m Zr{V, 2000 Ho$ CÔoí` h¡/h¢ ?

	 1.	 2045 VH$ OZg§»`m pñWa H$aZm &

	 2.	 _mV¥ _¥Ë`wXa H$mo 100,000 Or{dV OÝ_mo§ na 100 go ZrMo bmZm &

		  ZrMo {XE JE Hy$Q> go ghr CÎma H$m M`Z H$s{OE :

	 	 Hy$Q> :

	 (A)	Ho$db 1			   (B)	 Ho$db 2

	 (C)	1 Am¡a 2 XmoZm|			   (D)	 Z Vmo 1 Am¡a Z hr 2

		  Which of the following is/are the objectives of National Population Policy, 2000 ?

	 1.	 Population stabilisation by 2045.

	 2.	 Reduce maternal mortality rate to below 100 per 100,000 live birth.

		  Select the correct answer from the code given below :

		  Code :

	 (A)	 Only 1			   (B)	 Only 2

	 (C)	 1 and 2  both			   (D)	 Neither 1 nor 2
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	 26.	 {ZåZ{b{IV _| go H$m¡Z g~go à{gÕ ny±Or ~mµOma h¢ ?
	 1.	 eo`a ~mµOma
	 2.	 ~m±S> ~mµOma
	 3.	 ^maV _| {H$gr ^r {S>nm°{OQ>ar Ho$ gmW EH$ {S>nm°{OQ>ar ImVm
		  ZrMo {XE JE Hy$Q> go ghr CÎma H$m M`Z H$s{OE :
		  Hy$Q> :
	 (A)	Ho$db 1	 (B)	 Ho$db 1 Am¡a 3	 (C)	 Ho$db 2 Am¡a 3	 (D)	 Ho$db 1 Am¡a 2
		  Which among the following are the best known capital markets ?
	 1.	 The stock market
	 2.	 The bond markets
	 3.	 A depository account with any of the depositories in India
		  Select the correct answer from the code given below :
		  Code :
	 (A)	 Only 1	 (B)	 Only 1 and 3	 (C)	 Only 2 and 3	 (D)	 Only 1 and 2

	 27.	 ^maV _| {\$ŠH$s H$s ñWmnZm {H$gZo H$s ?
	 (A)	 Or. S>r. {~‹S>bm Ed§ Oo. Ama. S>r. Q>mQ>m	 (B)	 nwafmoÎm_Xmg R>mHw$aXmg Ed§ Or. S>r. {~‹S>bm
	 (C)	_hmË_m Jm§Yr Ed§ XmXm^mB© Zm¡amoOr	 (D)	 nwafmoÎm_Xmg R>mHw$aXmg Ed§ Oo. Ama. S>r. Q>mQ>m
		  Who established FICCI in India ?
	 (A)	 G. D. Birla and J. R. D. Tata 	 (B)	 Purshottamdas Thakurdas and G. D. Birla
	 (C)	 Mahatma Gandhi and Dadabhai Naoroji	 (D)	 Purshottamdas Thakurdas and J. R. D. Tata

	 28.	 gyMr – I H$mo gyMr – II Ho$ gmW gw_o{bV H$s{OE VWm gy{M`m| Ho$ ZrMo {XE JE Hy$Q> go ghr CÎma Mw{ZE &
	 gyMr – I				    gyMr – II

		  (A{YH$ma Ho$ àH$ma)			   	 (AZwgyMr)
	 a.	 {d{Y Ho$ g_j g_mZVm H$m A{YH$ma	 I.	 AZwgyMr – 14
	 b.	 Y_© Ho$ AmYma na ôX^md go gwajm	 II.	 AZwgyMr – 15	
	 c.	 Adga H$s g_mZVm		  	 III.	 AZwgyMr – 16
	 d.	 Añn¥í`Vm H$m A§V 		  	 IV.	 AZwgyMr – 17
		  Hy$Q> :
	 (A)	 a – I	 b – II	 c – III	 d – IV
	 (B)	 a – I	 b – III	 c – II	 d – IV
	 (C)	 a – I	 b – III	 c – IV	 d – II
	 (D)	 a – II	 b – I	 c – III	 d – IV
		  Match List – I with List – II and select the correct answer from the code given below the lists.
	L ist – I		L  ist – II
		 (Types of Rights)				    (Article)
	 a.	 Right of equality before the law	 I.	 Article – 14
	 b.	 Protection from discrimination on religious ground	 II.	 Article – 15
	 c.	 Equality of opportunity			   III.	 Article – 16
	 d.	 Abolition of untouchability			   IV.	 Article – 17
		  Code :
	 (A)	 a – I	 b – II	 c – III	 d – IV
	 (B)	 a – I	 b – III	 c – II	 d – IV
	 (C)	 a – I	 b – III	 c – IV	 d – II
	 (D)	 a – II	 b – I	 c – III	 d – IV
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	 29.	 bmoH$g^m H$s A{YH$V_ gXñ` g§»`m {ZYm©[aV h¡

	 	 The maximum number of members in the Lok Sabha is fixed at

	 (A)	 530	 (B)	 545	 (C)	 550	 (D)	 552

	 30.	 gyMr – I H$mo gyMr – II Ho$ gmW gw_o{bV H$s{OE VWm gy{M`m| Ho$ ZrMo {XE JE Hy$Q> go ghr CÎma Mw{ZE &

	  	  gyMr – I		        gyMr – II

		  (AZwgyMr)	 	 (g§d¡Ym{ZH$ àmdYmZ)

	 a.	 AZwÀN>oX 50	 I.	 amîQ́>n{V na _hm{^`moJ

	 b.	 AZwÀN>oX 143	 II.		 Ý`m`nm{bH$m Am¡a H$m ©̀nm{bH$m Ho$ ~rM n¥WŠH$aU	

	 c.	 AZwÀN>oX 61	 III.	 bmoH$ godm Am`moJ H$m H$m ©̀

	 d.	 AZwÀN>oX 320	 IV.	 gdm©oÀM Ý`m`mb` H$m gbmhH$ma joÌm{YH$ma

		  Hy$Q> :

	 (A)	 a – II	 b – IV	 c – I	 d – III

	 (B)	 a – III	 b – I	 c – IV	 d – II

	 (C)	 a – II	 b – I	 c – IV	 d – III

	 (D)	 a – III	 b – IV	 c – I	 d – II

		  Match List – I with List – II and select the correct answer from the code given below the lists.

		   List – I	  	             List – II

		  (Article)		  (Constitutional Provision)

	 a.	 Article 50	 I.	 Impeachment of the President

	 b.	 Article 143	 II.	 Separation between Judiciary and Executive

	 c.	 Article 61	 III.	 Functioning of Public Service Commission

	 d.	 Article 320	 IV.	 Advisory Jurisdiction of the Supreme Court

		  Code :

	 (A)	 a – II	 b – IV	 c – I	 d – III

	 (B)	 a – III	 b – I	 c – IV	 d – II

	 (C)	 a – II	 b – I	 c – IV	 d – III

	 (D)	 a – III	 b – IV	 c – I	 d – II
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àmMrZ B{Vhmg
Ancient History

	 31.	 Eo{Vhm{gH$ {dH$mg H$s ^maVr` naånam _| {ZåZ{b{IV _| go {H$gH$m ñWmZ _hËdnyU© _mZm OmVm h¡ ?
	 (A)	Jm¡V_	 (B)	 ^¥½dm§{Jag	 (C)	 n{U	 (D)	 {ÌOwJmW
		  Which of the following site is considered important in the Indian tradition of historical development ?
	 (A)	 Gautam	 (B)	 Bhrigvangiras	 (C)	 Pani	 (D)	 Trijugath

	 32.	 F$½doX H$m {ZåZ{b{IV _| go H$m¡Z-gm _ÊS>b {dídm{_Ì Ho$ Hw$b Ho$ gyŠVmo§ H$m g§J«h h¡ ?
	 (A)	_ÊS>b II	 (B)	 _ÊS>b IV	 (C)	 _ÊS>b III	 (D)	 _ÊS>b V
		  Which of the following ‘Mandal’ of the Rigveda is the collection of the hymns of the family of Vishwamitra ?
	 (A)	 Mandal II	 (B)	 Mandal IV	 (C)	 Mandal III	 (D)	 Mandal V

	 33.	 gyMr – I H$mo gyMr – II go gw_o{bV H$s{OE Am¡a gy{M`m| Ho$ ZrMo {XE JE Hy$Q> _| go ghr CÎma Mw{ZE &
		  gyMr – I		  gyMr – II
	 a.	 H$m¡frV{H$ ~«m÷U	 i.	 gm_doX
	 b.	 ~¥hXmaÊ`H$ Cn{ZfX	 ii.	 AWd©doX
	 c.	 N>mÝXmo½` Cn{ZfX	 iii.	 ewŠb `Owd}X
	 d.	 _mÊSy>Š` Cn{ZfX	 iv.	 F$½doX
		  Hy$Q> :
		  a	 b	 c	 d	
	 (A)	 iv	 i	 ii	 iii
	 (B)	 iii	 ii	 i	 iv
	 (C)	 ii	 iv	 i	 iii
	 (D)	 iv	 iii	 i	 ii

		  Match List – I with List – II and select the correct answer from the code given below the lists.
		L  ist – I	L ist – II
	 a.	 Kaushitaki Brahman	 i.	 Samaveda
	 b.	 Brihadaranyaka Upanishad	 ii.	 Atharvaveda
	 c.	 Chhandogya Upanishad	 iii.	 Shukla Yajurveda
	 d.	 Mandukya Upanishad	 iv.	 Rigveda

		  Code :
		  a	 b	 c	 d	
	 (A)	 iv	 i	 ii	 iii
	 (B)	 iii	 ii	 i	 iv
	 (C)	 ii	 iv	 i	 iii
	 (D)	 iv	 iii	 i	 ii

	 34.	 AH$b§H$ Ûmam {b{IV nwñVH$ H$m Zm_ Š`m h¡ ?

	 (A)	AmßV_r_m§gmbH$V©			   (B)	AZoH$m§VO`nVmH$m

	 (C)	Ý`m`àdoe			   (D)	 VËdmW©amOd{V©H$m
		  What is the name of the book written by Akalank ?
	 (A)	 Aptameemansalkart			   (B)	 Anekantajayapataka	
	 (C)	 Nyayapravesh			   (D)	 Tatvartharajvartika
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	 35.	 "Amo[a`m _XbnÄOr' Zm_H$ nwñVH$ {ZåZ{b{IV _| go {H$g amOd§e H$s OmZH$mar XoVr h¡ ?

	 (A)	Ho$gar amOd§e	 (B)	 J§J amOd§e	 (C)	 goZ amOd§e	 (D)	 nmb amOd§e
		  ‘Oriya Madalapanji’ text gives the information about which of the following dynasty ?
	 (A)	 Kesari dynasty	 (B)	 Ganga dynasty	 (C)	 Sena dynasty	 (D)	 Pala dynasty

	 36.	 ZrMo Xmo H$WZ {XE JE h¢ &

	 	 H$WZ – I : ""emoS>fr-àOmn{V'' _| ""àmU'' gpå_{bV h¡ &

		  H$WZ – II : ""F$V'' go hr ""gmo_'' CX²^yV Am¡a g§d{Õ©V hmoVm h¡ & 

		  Cn`w©ŠV H$WZm| Ho$ AmbmoH$ _| ZrMo {XE JE {dH$ënm| _| go ghr CÎma H$m M`Z H$s{OE :

	 (A)	H$WZ – I Am¡a H$WZ – II XmoZm| gË` h¢

	 (B)	H$WZ – I Am¡a H$WZ – II XmoZm| AgË` h¢

	 (C)	H$WZ – I gË` h¡, naÝVw H$WZ – II AgË` h¡

	 (D)	H$WZ – I AgË` h¡, naÝVw  H$WZ – II gË` h¡
		  Given below are two statements.
		  Statement – I :  ‘‘Shodashi-Prajapati’’ includes ‘‘Prana’’.
		  Statement – II : “Soma’’ originates and grows from ‘‘Rita’’ itself.
		  In the light of the above statements, choose the correct answer from the options given below :
	 (A)	 Both Statement – I and Statement – II are true
	 (B)	 Both Statement – I and Statement – II are false
	 (C)	 Statement – I is true, but Statement – II is false
	 (D)	 Statement – I is false, but Statement – II is true

	 37.	 ZrMo Xmo H$WZ {XE JE h¢ &

		  H$WZ – I : _§Oylr _ybH$ën Ho$ AZwgma MÝÐJwßV Zo AnZo nwÌ ^Ðgma H$mo amÁ` gm¢nm &

	 	 H$WZ – II : n[a{eîQ> nd©Z Ho$ AZwgma {~§Xwgma H$m nwÌ gw~ÝYw Wm & 

		  Cn`w©ŠV H$WZm| Ho$ AmbmoH$ _| ZrMo {XE JE {dH$ënm| _| go ghr CÎma H$m M`Z H$s{OE &

	 (A)	H$WZ – I Am¡a H$WZ – II XmoZm| gË` h¢

	 (B)	H$WZ – I Am¡a H$WZ – II XmoZm| AgË` h¢

	 (C)	H$WZ – I gË` h¡, naÝVww H$WZ – II AgË` h¡

	 (D)	H$WZ – I AgË` h¡, naÝVw H$WZ – II gË` h¡
		  Given below are two statements.
		  Statement – I : According to Manjushri moolakalpa, Chandragupta handed over the kingdom to his son 

Bhadrasara.
		  Statement – II : According to Parishishta Parvan, the son of Bindusara was Subandhu.
		  In the light of the above statements, choose the correct answer from the options given below :
	 (A)	 Both Statement – I and Statement – II are true
	 (B)	 Both Statement – I and Statement – II are false
	 (C)	 Statement – I is true, but Statement – II is false
	 (D)	 Statement – I is false, but Statement – II is true
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	 38.	 {H$g nwam-dZñn{VemñÌr Zo MmonZr _mÊS>mo Am¡a _hXhm Ho$ namJ Adeofm| H$m namJ {díbofU {H$`m Wm ?

	 (A)	E_. S>r. H$mObo	 (B)	 S>r. S>r. nÝV	 (C)	 Ho$. Eg. gmañdV	 (D)	 E. Ho$. nmoI{a`m
		  The pollen analysis of pollen remains of Chopani Mando and Mahadaha was done by which  

palaeo-botanist ?
	 (A)	 M. D. Kajale	 (B)	 D. D. Pant	 (C)	 K. S. Saraswat	 (D)	 A. K. Pokharia

	 39.	 bmoWb CËIZZ _| ~§XaJmh Ho$ gmú` {H$g {Xem _| àmßV hþE Wo ?

	 (A)	nydr©	 (B)	 npíM_r	 (C)	 X{jUr	 (D)	 CÎmar
		  In which direction, the evidence of port has been found in Lothal excavation ?
	 (A)	 Eastern	 (B)	 Western	 (C)	 Southern	 (D)	 Northern

	 40.	 gyMr – I H$mo gyMr – II go gw_o{bV H$s{OE VWm gy{M`m| Ho$ ZrMo {XE JE Hy$Q> _| go ghr CÎma H$m M`Z H$s{OE &

		  gyMr – I		  gyMr – II

		  ({d{Y)		  (d¡km{ZH$)

	 a.	 d¥j db` H$mbmZwH«$_	 i.	 \o$[a§½Q>Z S>o{Z`b

	 b.	 nmoQ>o{e`_ Am°J©Z {d{Y	 ii.	 {d{b`S>© E\$. {bdr

	 c.	 D$î_mXr{ßV {d{Y	 iii.	 gr. E\$. dr. dmBµOgoH$a

	 d.	 H$m~©Z–14 {d{Y	 iv.	 E. B©. S>½bg
		  Hy$Q> :

		  a	 b	 c	 d

	 (A)	 iv	 iii	 i	 ii

	 (B)	 iii	 iv	 ii	 i

	 (C)	 iv	 ii	 i	 iii

	 (D)	 i	 ii	 iii	 iv

		  Match List – I with List – II and select the correct answer from the code given below the lists.
		L  ist – I		L  ist – II
		  (Method)		  (Scientist)
	 a.	 Dendrochronology	 i.	 Ferington Denial
	 b.	 Potassium Argon method	 ii.	 Williard F. Livi
	 c.	 Thermoluminescence method	 iii.	 C. F. V. Weizsacker
	 d.	 Carbon–14 method	 iv.	 A. E. Douglas
	 	 Code :

		  a	 b	 c	 d

	 (A)	 iv	 iii	 i	 ii

	 (B)	 iii	 iv	 ii	 i

	 (C)	 iv	 ii	 i	 iii

	 (D)	 i	 ii	 iii	 iv
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	 41.	 gyMr – I H$mo gyMr – II go gw_o{bV H$s{OE Am¡a gy{M`m| Ho$ ZrMo {XE JE Hy$Q> _| go ghr CÎma H$m M`Z H$s{OE &

		  gyMr – I		  gyMr – II

		  (ñWb)		  (g§ñH¥${V)

	 a.	 _hmXod {nn[a`m	 i.	 _Ü`nmfmU g§ñH¥${V

	 b.	 {Vbdmam	 ii.	 Vm_«nmfmU g§ñH¥${V

	 c.	 _aH$S>mobm	 iii.	 nwamnmfmU g§ñH¥${V

	 d.	 _{hXnwa	 iv.	 ZdnmfmU g§ñH¥${V
	 	 Hy$Q> :	
			   a	 b	 c	 d
	 (A)		  ii	 i	 iv	 iii
	 (B)		  ii	 iv	 i	 iii
	 (C)		  iii	 i	 iv	 ii	
	 (D)		  iii	 ii	 iv	 i

		  Match List – I with List – II and select the correct answer from the code given below the lists.
		  List – I		L  ist – II
		  (Site)		  (Culture)
	 a.	 Mahadeo Pipariya	 i.	 Mesolithic culture
	 b.	 Tilwara	 ii.	 Chalcolithic culture
	 c.	 Marakdola	 iii.	 Palaeolithic culture
	 d.	 Mahidpur	 iv.	 Neolithic culture

	 	 Code :	
			   a	 b	 c	 d
	 (A)		  ii	 i	 iv	 iii
	 (B)		  ii	 iv	 i	 iii
	 (C)		  iii	 i	 iv	 ii	
	 (D)		  iii	 ii	 iv	 i

	 42.	 ZrMo Xmo H$WZ {XE JE h¢ &

		  H$WZ – I : AëbmhXrZmo _| Ho$db 1% {d{eîQ> H$mbo Am¡a bmb h‹S>ßnr` _¥X²^mÊS> {_bo h¢ &

		  H$WZ – II : {^a‹S>mZm _| ZŠH$mer Ho$ H$m`©embm H$s nhMmZ H$s JB© h¡ &

		  Cn`w©ŠV H$WZm| Ho$ AmbmoH$ _| ZrMo {XE JE {dH$ënm| _| go ghr CÎma H$m M`Z H$s{OE :

	 (A)	 H$WZ – I Am¡a H$WZ – II XmoZm| gË` h¢	 (B)	 H$WZ – I Am¡a H$WZ – II XmoZm| AgË` h¢

	 (C)	 H$WZ – I gË` h¡, naÝVw H$WZ – II AgË` h¡	 (D)	 H$WZ – I AgË` h¡, naÝVw H$WZ – II gË` h¡
		  Given below are two statements.

		  Statement – I : There is only 1% typical Black and Red Harappan pottery available in Allahdino.
		  Statement – II : Lapidary workshop has been identified at Bhirrana. 
		  In the light of the above statements, choose the correct answer from the options given below : 
	 (A)	 Both Statement – I and Statement – II are true	 (B)	 Both Statement – I and Statement – II are false
	 (C)	 Statement – I is true, but Statement – II is false	 (D)	 Statement – I is false, but Statement – II is true
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	 43.	 ZrMo Xmo H$WZ {XE JE h¢ &

		  H$WZ – I : _mohoZOmoX‹S>mo go e§I H$m n¡_mZm {_bm Wm &

		  H$WZ – II : bmoWb go hmWr Xm±V H$m n¡_mZm {_bm Wm &

		  Cn`w©ŠV H$WZm| Ho$ AmbmoH$ _| ZrMo {XE JE {dH$ënm| _| go ghr CÎma H$m M`Z H$s{OE :

	 (A)	 H$WZ – I Am¡a H$WZ – II XmoZm| gË` h¢	 (B)	 H$WZ – I Am¡a H$WZ – II XmoZm| AgË` h¢

	 (C)	 H$WZ – I gË` h¡, naÝVw H$WZ – II AgË` h¡	 (D)	 H$WZ – I AgË` h¡, naÝVw H$WZ – II gË` h¡
		  Given below are two statements.
		  Statement – I : Shell scale was found at Mohenjodaro.
		  Statement – II : Ivory scale was found at Lothal.

		  In the light of the above statements, choose the correct answer from the options given below : 
	 (A)	 Both Statement – I and Statement – II are true	 (B)	 Both Statement – I and Statement – II are false
	 (C)	 Statement – I is true, but Statement – II is false	 (D)	 Statement – I is false, but Statement – II is true

	 44.	 gyMr – I H$mo gyMr – II go gw_o{bV H$s{OE Am¡a gy{M`m| Ho$ ZrMo {XE JE Hy$Q> _| go ghr CÎma Mw{ZE &

		  gyMr – I		  gyMr – II

		  (nwamñWb)		  (CËIZZH$Vm©)

	 a.	 H$moQ> XrOr	 i.	 Or. E\$. S>oëg

	 b.	 _mÊS>m	 ii.	 \$µOb Ah_X ImZ

	 c.	 ~mbmH$moQ>	 iii.	 J«oJar nmogob

	 d.	 amoOS>r	 iv.	 Oo. nr. Omoer Am¡a _Yw~mbm

	 	 Hy$Q> :	
			   a	 b	 c	 d
	 (A)		  ii	 iv	 i	 iii
	 (B)		  ii	 iv	 iii	 i
	 (C)		  iii	 i	 iv	 ii	
	 (D)		  iii	 ii	 iv	 i

		  Match List – I with List – II and select the correct answer from the codes given below the lists.
		  List – I		L  ist – II
		  (Site)		  (Excavator)
	 a.	 Kot Diji	 i.	 G. F. Dales
	 b.	 Manda	 ii.	 Fazal Ahmed Khan
	 c.	 Balakot	 iii.	 Gregory Possehl
	 d.	 Rojadi	 iv.	 J. P. Joshi and Madhubala
	 	 Code :	
			   a	 b	 c	 d
	 (A)		  ii	 iv	 i	 iii
	 (B)		  ii	 iv	 iii	 i
	 (C)		  iii	 i	 iv	 ii	
	 (D)		  iii	 ii	 iv	 i
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	 45.	 Amh‹S> g§ñH¥${V Ho$ ~mao _| {ZåZ{b{IV H$WZm| na {dMma H$s{OE &

	 i.	Amh‹S>dmgr Vm±~m JbmZm OmZVo Wo &

	 ii.	`o bmoJ Mmdb go n{a{MV Zht Wo &

	 iii.	YmVw H$m H$m`© Amh‹S>dm{g`m| H$s AW©ì`dñWm H$m EH$ gmYZ Wm & 

	 iv.	ídoV a§J go {M{ÌV H$mbo Am¡a bmb _¥X²^mÊS> Amh‹S> go àmßV hþE h¢ &

		  ZrMo {XE JE {dH$ënm| _| go ghr CÎma H$m M`Z H$s{OE :

	 (A)	 i, iii Am¡a iv ghr h¢			   (B)	 i Am¡a ii ghr h¢

	 (C)	 i, ii Am¡a iii ghr h¢			   (D)	 ii, iii Am¡a iv ghr h¢

		  Consider the following statements pertaining to the Ahar culture.

	 i.	 Natives of Ahar culture knew copper smelting.

	 ii.	 Rice was unknown to them.

	 iii.	 Metal work was one of the means of economy of Ahar.

	 iv.	 Black and red ware with white painting found from Ahar.

		  Choose the correct answer from the options given below :

	 (A)	 i, iii and iv are correct			   (B)	 i and ii are correct 

	 (C)	 i, ii and iii are correct			   (D)	 ii, iii and iv are correct

	 46.	 Aí`y{b`Z g§ñH¥${V Ho$ Adeof e¡bml`m| go àmßV hþE Wo :

	 I.	 ^r_~oR>H$m

	 II.	 KK{a`m

	 III.	 AmX_J‹T>

	 IV.	 boI{h`m

		  ZrMo {XE JE {dH$ënm| _| go ghr CÎma H$m M`Z H$s{OE :

	 (A)	 I Am¡a II			   (B)	 I Am¡a III

	 (C)	 II Am¡a III			   (D)	 II Am¡a IV
		  Remains of Acheulian culture have been unearthed from the rock-shelters at
	 I.	 Bhimbetka
	 II.	 Ghagharia
	 III.	 Adamgarh
	 IV.	 Lekhahia

		  Select the correct answer from the options given below :
	 (A)	 I and II			   (B)	 I and III
	 (C)	 II and III			   (D)	 II and IV
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	 47.	 n¡gam Ho$ CËIZZ go g§ñH¥${V`m± àmßV hþB© 

	 I.	 {dH${gV Aí`y{b`Z

	 II.	 àmapå^H$ Aí`y{b`Z

	 III.	 CÀM nwamnmfm{UH$

	 IV.	 _Ü` nmfm{UH$

		  ZrMo {XE JE {dH$ënm| _| go ghr CÎma H$m M`Z H$s{OE :

	 (A)	 I Am¡a IV	 (B)	 II Am¡a III	 (C)	 III Am¡a IV	 (D)	 II Am¡a IV
		  Excavations at Paisra revealed cultures of 
	 I.	 Advanced Acheulian
	 II.	 Early Acheulian
	 III.	 Upper Palaeolithic
	 IV.	 Mesolithic

		  Choose the correct answer from the options given below :
	 (A)	 I and IV	 (B)	 II and III	 (C)	 III and IV	 (D)	 II and IV

	 48.	 H$moQ XrOr g§ñH¥${V go Ow‹S>o nwamñWbm| H$m gdm©{YH$ g§Ho$ÝÐU {_bVm h¡ 

	 (A)	gm¡amîQ´> _|			   (B)	 {gÝYw-Jm§Jo` _¡XmZ _|

	 (C)	Mmo{bñVmZ _|			   (D)	 K½Ka KmQ>r _|
		  The greatest concentration of Kot Dijian sites lies in 
	 (A)	 Saurashtra			   (B)	 Indo-Gangetic Plain
	 (C)	 Cholistan			   (D)	 Ghagghar Valley

	 49.	 {ZåZ{b{IV MaUm| H$mo EH$ AZwH«$_ _| ì`dpñWV H$s{OE & 

	 I.	 no{H$Zo{gg

	 II.	 Am°ñQ´>obmo{nWoH$g-A{\«$Ho$Zg

	 III.	 hmo_mo h¡{~{bg

	 IV.	 Am°ñQ´>obmo{nWoH$g-A\$maopÝgg

		  ZrMo {XE JE {dH$ënm| _| go ghr CÎma Mw{ZE :
	 (A)	 III, II, I, IV	 (B)	 IV, II, I, III	 (C)	 IV, III, II, I	 (D)	 IV, II, III, I

		  Arrange the following steps in a sequence. 
	 I.	 Pekinesis
	 II.	 Australopithecus-Africanus
	 III.	 Homo Habilis
	 IV.	 Australopithecus-Afarensis

		  Choose the correct answer from the options given below :
	 (A)	 III, II, I, IV	 (B)	 IV, II, I, III	 (C)	 IV, III, II, I	 (D)	 IV, II, III, I



M	 -17-	 31

	 50.	 {ZåZ{b{IV _| go H$m¡Z-gm EH$ ñWb ^maV H$m g~go ~‹S>m _Ü`nmfmU H$mbrZ ñWb h¡ ?

	 (A)	Iråga	 (B)	 {~O`nwa	 (C)	 ~mJmoa	 (D)	Iwar
		  Which one of the following site is the largest Mesolithic site in India ?
	 (A)	 Khimsar	 (B)	 Bijaipur	 (C)	 Bagor	 (D)	 Khuri

	 51.	 {ZåZ{b{IV nwamnmfm{UH$ ñWbm| H$mo H$mbH«$_mZwgma ì`dpñWV H$s{OE &

	 I.	nQ>Zo 

	 II.	_mgwb

	 III.	gmXm~

	 IV.	H$mënr

		  ZrMo {XE JE {dH$ënm| _| go ghr CÎma H$m M`Z H$s{OE :
	 (A)	 I, II, III, IV	 (B)	 IV, III, II, I	 (C)	 II, III, IV, I	 (D)	 I, IV, III, II

		  Arrange the following palaeolithic sites in chronological order. 
	 I.	 Patne
	 II.	 Masul
	 III.	 Sadab
	 IV.	 Kalpi

		  Select the correct answer from the options given below :
	 (A)	 I, II, III, IV	 (B)	 IV, III, II, I	 (C)	 II, III, IV, I	 (D)	 I, IV, III, II

	 52.	 H$mbr~§Jm H$s àmH²$-h‹S>ßnm g§ñH¥${V H$m H$mb h¡ 

	 (A)	2200 B©.ny. go 1700 B©.ny.			   (B)	 2300 B©.ny. go 1800 B©.ny.

	 (C)	2400 B©.ny. go 2200 B©.ny.			   (D)	 2500 B©.ny. go 1500 B©.ny.
		  The period of the Pre-Harappan culture of Kalibanga is 
	 (A)	 2200 B.C. to 1700 B.C.			   (B)	 2300 B.C. to 1800 B.C.
	 (C)	 2400 B.C. to 2200 B.C.			   (D)	 2500 B.C. to 1500 B.C.

	 53.	 h[a`mUm H$m _hËdnyU© h‹S>ßnr` nwamñWb {^a‹S>mZm {ZåZ{b{IV _| go {H$g {Obo _| pñWV h¡ ?

	 (A)	{hgma	 (B)	 H¡$Wb	 (C)	 Hw$éjoÌ	 (D)	 \$Vohm~mX
		  Bhirrana, an important Harappan sites in Haryana is situated in which of the following district ?
	 (A)	 Hisar	 (B)	 Kaithal	 (C)	 Kurukshetra	 (D)	 Fatehabad

	 54.	 hþbmg Ho$ _Ü` Am¡a D$nar MaU {ZåZ{b{IV _| go {H$ggo gå~pÝYV h¢ ?

	 (A)	àmapå^H$ h‹S>ßnr`			   (B)	 àm¡‹T> h‹S>ßnr`

	 (C)	nadVu h‹S>ßnr`			   (D)	 h‹S>ßnmoÎma
		  The middle and upper phase of Hulas belongs to which of the following ?
	 (A)	 Early Harappan			   (B)	 Mature Harappan
	 (C)	 Late Harappan			   (D)	 Post Harappan
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	 55.	 {ZåZ{b{IV _| go {H$g h‹S>ßnr` nwamñWb go Vm±~o H$s ~Zr {M{‹S>`m H$s _y{V© àmßV hþB© h¡ ?

	 (A)	_mohoZOmoX‹S>mo	 (B)	 h‹S>ßnm	 (C)	 H$mbr~§Jm	 (D)	 bmoWb
		  From which of the following Harappan site, a copper sculpture of bird has been recovered ?
	 (A)	 Mohenjodaro	 (B)	 Harappa	 (C)	 Kalibanga	 (D)	 Lothal

	 56.	 ZrMo Xmo H$WZ {XE JE h¢ &

		  H$WZ - I : ~Umdbr go _mV¥Xodr H$s Xmo _¥Ê_y{V©`m± àmßV hþB© h¢ &

		  H$WZ - II : _mV¥Xodr H$s _¥Ê_y{V©`m± ^maV Ho$ g^r h‹S>ßnr` ñWbm| go àmßV hþB© h¢ &

		  Cn`w©ŠV H$WZm| Ho$ AmbmoH$ _| ZrMo {XE J`o {dH$ënm| _| go ghr CÎma H$m M`Z H$s{OE :

	 (A)	H$WZ - I Am¡a H$WZ - II XmoZm| gË` h¢ 	 (B)	 H$WZ - I Am¡a H$WZ - II XmoZm| AgË` h¢ 

	 (C)	H$WZ - I gË` h¡, naÝVw H$WZ - II AgË` h¡	 (D)	 H$WZ - I AgË` h¡, naÝVw H$WZ - II gË` h¡>
		  Given below are two statements.

		  Statement – I : Two terracottas of Mother Goddess have been found from Banavali.

		  Statement – II :Terracottas of Mother Goddess have been found from all the Harappan sites of India.

		  In the light of the above statements, choose the correct answer from the options given below :
	 (A)	 Both Statement – I and Statement – II are true	 (B)	 Both Statement – I and Statement – II are false
	 (C)	 Statement – I is true, but Statement – II is false	 (D)	 Statement – I is false, but Statement – II is true

	 57.	 Cn{ZfX, ^JdX²JrVm Am¡a ~«÷gyÌ H$mo gpå_{bV ê$n go Š`m H$hm OmVm h¡ ?

	 (A)	bKwÌ`r	 (B)	 ~¥hV²Ì`r	 (C)	 Ì`r	 (D)	 àñWmZÌ`r
		  What is the Upanishadas, Bhagavadgeeta and Brahmasutra collectively called ?
	 (A)	 Laghutrayi	 (B)	 Brihattrayi	 (C)	 Trayi	 (D)	 Prasthantrayi

	 58.	 ZrMo Xmo H$WZ {XE JE h¢ &

		  H$WZ - I : lm¡V Am¡a J¥ø d¡{XH$ `km| Ho$ Xmo {d^oX _mZo OmVo h¢ &

		  H$WZ - II : Hw$b {_bmH$a 21 àH$ma Ho$ `k BZ Xmo {d^oXm| _| hmoVo h¢ &

		  Cn`w©ŠV H$WZm| Ho$ AmbmoH$ _| ZrMo {XE JE {dH$ënm| _| go ghr CÎma H$m MwZmd H$s{OE :

	 (A)	XmoZm| H$WZ gË` h¢ 			   (B)	 XmoZm| H$WZ AgË` h¢ 

	 (C)	H$WZ - I gË` h¡, naÝVw H$WZ - II AgË` h¡	 (D)	 H$WZ - I AgË` h¡, naÝVw H$WZ - II gË` h¡>
		  Given below are two statements.

		  Statement – I : Shrauta and Grihya are regarded as two distinctions of Vedic Yajnas.

		  Statement – II : Altogether there are 21 types of Yajnas in these two distinctions.

		  In the light of the above statements, choose the correct answer from the options given below :
	 (A)	 Both Statements are true			  (B)	 Both Statements are false
	 (C)	 Statement – I is true, but Statement – II is false	 (D)	 Statement – I is false, but Statement – II is true
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	 59.	 A§JwÎma {ZH$m` _| gmobh _hmOZnX Cpëb{IV h¢ & {ZåZ{b{IV _| go H$m¡Z-go _hmOZnX nm{U{Z H$s AîQ>mÜ`m`r _| 
Cpëb{IV h¢ ?

	 I.	_JY
	 II.	Aí_H$
	 III.	H$å~moO
	 IV.	Mo{X
	 V.	dËg

		  ZrMo {XE JE {dH$ënm| _| go ghr CÎma H$m M`Z H$s{OE : 

	 (A)	 I, II Am¡a III			   (B)	 IV Am¡a V

	 (C)	 III, IV Am¡a V			   (D)	 I, II, IV Am¡a V
		  Sixteen Mahajanapadas are mentioned in the Anguttar Nikaya. Which of the following Mahajanapadas 

are mentioned in the Ashtadhyayi of Panini ?
	 I.	 Magadh
	 II.	 Ashmak
	 III.	 Kamboj
	 IV.	 Chedi
	 V.	 Vatsa

		  Choose the correct answer from the options given below :
	 (A)	 I, II and III			   (B)	 IV and V
	 (C)	 III, IV and V			   (D)	 I, II, IV and V

	 60.	 amOm MoQ>H$ H$s nw{Ì`m| Ho$ {ddmh Ho$ gå~ÝY _| ZrMo Hw$N> H$WZ {XE JE h¢ &

	 1.	à^mdVr H$m {ddmh {gÝYw-gm¡dra Ho$ amOm CX`Z go hþAm Wm &

	 2.	_¥JmdVr H$m {ddmh H$m¡emå~r Ho$ amOm CX`Z go hþAm Wm &

	 3.	{edm H$m {ddmh AdÝVr Ho$ amOm MÊS>-àÚmoV go hwAm Wm &

	 4.	nX²_mdVr H$m {ddmh Hw$é Zaoe YZÄO` go hþAm Wm &

		  Cn`©wŠV H$WZm| Ho$ AmbmoH$ _| {ZåZ{b{IV {dH$ënm| _| go ghr CÎma H$m M`Z H$s{OE :

	 (A)	Ho$db 1 Am¡a 2			   (B)	 Ho$db 1, 3 Am¡a 4

	 (C)	Ho$db 1, 2 Am¡a 3			   (D)	 Ho$db 3 Am¡a 4 

		  Given below are some statements regarding the marriage of the daughters of king Chetak.
	 1.	 Prabhavati was married to king Udayana of Sindhu-Sauvira.
	 2.	 Mrigavati was married to king Udayana of Kaushambi.
	 3.	 Shiva was married to king Chanda-Pradyota of Avanti.
	 4.	 Padmavati was married to the Kuru king Dhananjaya.

		  In the light of the above statements, choose the correct answer from the options given below :
	 (A)	 Only 1 and 2			   (B)	 Only 1, 3 and 4
	 (C)	 Only 1, 2 and 3			   (D)	 Only 3 and 4
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	 61.	 "Cpã~ar' {OgZo "Cnm{gH$m' Ho$ ê$n _| "{Zã~mZ' àmßV {H$`m Wm, {H$g ñWmZ H$s {Zdmgr Wr ?

	 (A)	amOJ¥h	 (B)	 lmdñVr	 (C)	 H${nbdñVw	 (D)	 B{gnÎmZ
		  ‘Ubbiri’ who attained ‘Nibban’ as ‘Upasika’ was a resident of which place ?
	 (A)	 Rajagriha	 (B)	 Shravasti	 (C)	 Kapilavastu	 (D)	 Isipattan

	 62.	 {ZåZ{b{IV KQ>ZmAm| H$mo EH$ H«$_ _| ì`dpñWV H$a| &

	 1.	{ZHo$Zmoa H$s hË`m

	 2.	{\${bn H$s hË`m

	 3.	~wHo$\o$bm ZJa H$s ñWmnZm

	 4.	g§Jb H$m `wÕ

		  KQ>ZmAm| Ho$ K{Q>V hmoZo Ho$ H«$_ Ho$ AZwgma ZrMo {XE JE {dH$ënm| _| go ghr CÎma H$m M`Z H$s{OE :
	 (A)	 3, 1, 2, 4	 (B)	 2, 4, 3, 1	 (C)	 2, 3, 4, 1	 (D)	 3, 1, 4, 2

		  Arrange the following events in a sequence.
	 1.	 Killing of Nicenor
	 2.	 Killing of Philip
	 3.	 Establishment of the city of Boucephela
	 4.	 Battle of sangal

		  Choose the correct answer from the options given below according to the occurrence of the events :
	 (A)	 3, 1, 2, 4	 (B)	 2, 4, 3, 1	 (C)	 2, 3, 4, 1	 (D)	 3, 1, 4, 2

	 63.	 {ZåZ{b{IV H$WZm| na {dMma H$s{OE &

	 1.	goMZH$ hëb Am¡a ~ohëb H$mo àmßV hþAm Wm &

	 2.	_hmd§e _| {~på~gma Ho$ {nVm H$m Zm_ Y_©`eg ~Vm`m J`m h¡ &

	 3.	ê$Ðm`Z, {~på~gma H$m {_Ì Wm &

	 4.	{~på~gma Ho$ EH$ nwÌ H$m Zm_ erbd§V Wm &

		  ZrMo {XE JE {dH$ënm| _| go ghr H$WZm| dmbo {dH$ën H$m M`Z H$s{OE :

	 (A)	Ho$db 1 Am¡a 2			   (B)	 Ho$db 1, 3 Am¡a 4

	 (C)	Ho$db 1, 2 Am¡a 3			   (D)	 Ho$db 3 Am¡a 4
		  Consider the following statements.
	 1.	 Sechanak was received by Halla and Behalla.
	 2.	 The name of the father of Bimbisara is given in Mahavansha as Dharmayashas.
	 3.	 Rudrayana was a friend of Bimbisara.
	 4.	 The name of a son of Bimbisara was sheelwant.

		  Select the correct option from the following which consists of correct statements :
	 (A)	 Only 1 and 2			   (B)	 Only 1, 3 and 4
	 (C)	 Only 1, 2 and 3			   (D)	 Only 3 and 4
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	 64.	 _hmd§e Ho$ AZwgma _JY Ho$ emgH$m| H$mo CZH$s emgZmd{Y go gw_o{bV H$s{OE VWm gy{M`m| Ho$ ZrMo {XE JE Hy$Q> _| go 
ghr CÎma H$m M`Z H$s{OE &

	 	emgH$		  emgZmd{Y
	 a.	 {~på~gma	 I.	 32 df©
	 b.	 AOmVeÌw	 II.	 16 df©
	 c.	 CXm{`Z	 III.	 18 df©
	 d.	 {eewZmJ	 IV.	 52 df©

		  Hy$Q> :
	 (A)	 a – II, b – IV, c – I, d – III			  (B)	 a – II, b – I, c – IV, d – III
	 (C)	 a – IV, b – III, c – I, d – II			  (D)	 a – IV, b – I, c – II, d – III

		  According to Mahavansha, match the rulers of Magadha with their reign and choose the correct answer 
from the code given below the lists.

		R  uler				R    eign
	 a.	 Bimbisara	 I.	 32 years
	 b.	 Ajatshatru	 II.	 16 years
	 c.	 Udayin	 III.	 18 years
	 d.	 Shishunaga	 IV.	 52 years

		  Code :
	 (A)	 a – II, b – IV, c – I, d – III			  (B)	 a – II, b – I, c – IV, d – III
	 (C)	 a – IV, b – III, c – I, d – II			  (D)	 a – IV, b – I, c – II, d – III

	 65.	 ZrMo Xmo H$WZ {XE JE h¢, EH$ H$mo A{^H$WZ (A) Am¡a Xÿgao H$mo VH©$ (R) H$hm J`m h¡ &

		  A{^H$WZ (A) : {gÕmW© Zo AZwd¡Zo` _| Vn H$aHo$ eara H$mo gwIm S>mbm &

	 	 VH©$ (R) : am_nwÎm Zo {gÕmW© H$mo "g§km' Am¡a "Ag§km' go {^ÝZ `moJ H$m kmZ {X`m &

		  Cn`©wŠV H$WZm| Ho$ AmbmoH$ _| {ZåZ{b{IV {dH$ënm| _| go ghr CÎma H$m M`Z H$s{OE :

	 (A)	(A) Am¡a (R) XmoZm| ghr h¢ Am¡a (R), (A) H$s ghr ì`m»`m h¡ 

	 (B)	(A) Am¡a (R) XmoZm| ghr h¢, naÝVw (R), (A) H$s ghr ì`m»`m Zht h¡

	 (C)	(A) ghr h¡, naÝVw (R) JbV h¡

	 (D)	(A) JbV h¡, naÝVw (R) ghr h¡ 
		  Given below are two statements, one is labelled as Assertion (A) and the other is labelled as Reason (R).

		  Assertion (A) : Siddhartha dried his body by practicing penance in Anuvaineya.

		  Reason (R) : Ramaputta taught Siddhartha the knowledge of yoga different from ‘Sanjna’ and ‘Asanjna’. 

		  In the light of the above statements, choose the correct answer from the options given below :

	 (A)	 Both (A) and (R) are correct and (R) is the correct explanation of (A)

	 (B)	 Both (A) and (R) are correct, but (R) is not the correct explanation of (A)

	 (C)	 (A) is correct, but (R) is wrong
	 (D)	 (A) is wrong, but (R) is correct
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	 66.	 {H$g A{^boI _| AemoH$ ñd`§ H$mo emŠ`-~wÕ H$hVm h¡ ?

	 (A)	~«÷{J[a bKw {ebmboI _|			   (B)	 JwOam© bKw {ebmboI _|

	 (C)	~¡amQ> bKw [ebmboI _|			   (D)	 _mñH$s bKw {ebmboI _|
		  In which inscription, Ashoka told himself as Shakya-buddha ?
	 (A)	 Brahmagiri minor rock-edict	 (B)	 Gujarra minor rock-edict
	 (C)	 Bairat minor rock-edict			   (D)	 Maski minor rock-edict

	 67.	 {ZåZ{b{IV _| go AemoH$ H$m H$m¡Z-gm A{^boI nm±M `dZ amÁ`m| _| Y_© àMmaH$m| H$mo ^oOZo H$m dU©Z H$aVm h¡ ?

	 (A)	{ÛVr` {ebmboI			   (B)	 V¥Vr` {ebmboI

	 (C)	Xe_ {ebmboI			   (D)	 Ì`moXe {ebmboI
	 	 Which of the following Ashokan inscriptions describe the despatch of religious missionaries to five Yavan 

kingdoms ?
	 (A)	 Rock-edict – II			   (B)	 Rock-edict – III
	 (C)	 Rock-edict – X			   (D)	 Rock-edict – XIII

	 68.	 ZrMo Xmo H$WZ {XE JE h¢, EH$ H$mo A{^H$WZ (A) Am¡a Xÿgao H$m VH©$ (R) H$hm J`m h¡ &

		  A{^H$WZ (A) : F$H²$-`Ow-gm_ {OgH$s ajm H$aVo h¢ dh g_mO H$^r Xþ:Ir Zht hmoVm &

		  VH©$ (R) : MmUŠ` Zo dUm©l_ na§nam H$s ajm amOm H$m H$V©ì` ~Vm`m h¡ &

		  Cn`©wŠV H$WZm| Ho$ AmbmoH$ _| {ZåZ{b{IV {dH$ënm| _| go ghr CÎma H$m M`Z H$s{OE :

	 (A)	(A) Am¡a (R) XmoZm| ghr h§¡ Am¡a (R), (A) H$s ghr ì`m»`m h¡

	 (B)	(A) Am¡a (R) XmoZm| ghr h§¡, naÝVw (R), (A) H$s ghr ì`m»`m Zht h¡

	 (C)	(A) ghr h¡, naÝVw (R) JbV h¡

	 (D)	(A) JbV h¡, naÝVw (R) ghr h¡
		  Given below are two statements, one is labelled as Assertion (A) and other is labelled as Reason (R).
		  Assertion (A) : The society which is protected by Rik-Yaju-Sam is never miserable.
		  Reason (R) : Chanakya has told the duty of the king to protect the Varnashrama tradition.
		  In the light of the above statements, choose the correct answer from the options given below :
	 (A)	 Both (A) and (R) are correct and (R) is the correct explanation of (A)
	 (B)	 Both (A) and (R) are correct, but (R) is not the correct explanation of (A)
	 (C)	 (A) is correct, but (R) is not correct
	 (D)	 (A) is not correct, but (R) is correct

	 69.	 {H$g Hw$fmU emgH$ Ho$ {gŠHo$ na ""~o{g{bAg gmoQ>oamg Ea_oAm°`'' boI A§{H$V h¡ ?

	 (A)	H${ZîH$ àW_			   (B)	 dm{gîH$

	 (C)	Hw$Owb H¡$S>{\$gog			   (D)	 hþ{dîH$
		  Which Kushana ruler’s coin has the inscription “Basilius Soteras Airmeaoy” ?
	 (A)	 Kanishka – I			   (B)	 Vashishka
	 (C)	 Kujula Kadphises			   (D)	 Huvishka
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	 70.	 {ZåZ{b{IV _| go H$m¡Z-gm g¡Ý` A{YH$mar gr[a`m Ho$ amOmAm| Ûmam _m¡̀ © H$mb _| ^maV _| Zht ôOm J`m Wm ?

	 (A)	n¡Q´>mopŠbµO	 (B)	 {W_moñWoZrO	 (C)	 S>m`mo{Z{g`g	 (D)	 ñQ´>¡~mo
	 	 Which one of the following military official was not sent to India by the rulers of Syria in the Mauryan period ?
	 (A)	 Patrocles	 (B)	 Thimosthenes	 (C)	 Dionisius	 (D)	 Strabo

	 71.	 {ZåZ{b{IV _| go H$m¡Z-gm eñÌ _m¡`© H$mb go g§~§{YV Zht h¡ ?

	 (A)	nm§Mm{bH$	 (B)	 XodXÊS>	 (C)	 gyH$[aH$m	 (D)	Aam©Xm
		  Which of the following weapons is not related to the mauryan period ?
	 (A)	 Panchalika	 (B)	 Devadanda	 (C)	 Sukarika	 (D)	 Arrada

	 72.	 AemoH$ Zo {H$gHo$ {bE Zonmb _| XodnÎmZ Zm_H$ ZJa ~gm`m ?

	 (A)	AnZo nwÌ Ho$ {bE	 (B)	AnZr nwÌr Ho$ {bE	 (C)	 ~m¡Õ {^jwAm| Ho$ {bE	 (D)	 ì`mnm[a`m| Ho$ {bE
		  For whom did Ashoka established a city named Devapattana in Nepal ?
	 (A)	 For his son	 (B)	 For his daughter	 (C)	 For Buddhist Monks	 (D)	 For traders

	 73.	 à^mdVr JwßVm Ho$ nyZm Vm_« nÌ A{^boI H$m CËH$sU©H$ H$m¡Z Wm ?

	 (A)	B©ída	 (B)	 ~mgwH$	 (C)	 MH«$Xmg	 (D)	 Hw$b`O JwßVm
		  Who was the engraver of the Poona copper plate inscription of Prabhavati Gupta ?
	 (A)	 Ishwar	 (B)	 Basuka	 (C)	 Chakradasa	 (D)	 Kulayaja Gupta

	 74.	 {ZåZ{b{IV _| go {H$g emgH$ Zo AnZo g§nyU© amÁ` _| _{Xam H$m CËnmXZ Am¡a {dH«$` {Z{fÕ H$a {X`m Wm ?

	 (A)	hf©	 (B)	 Y_©nmb	 (C)	 ^moO	 (D)	 Hw$_manmb
		  Who among the following rulers forbade the production and sale of liquor throughout his kingdom ?
	 (A)	 Harsha	 (B)	 Dharmapala	 (C)	 Bhoja	 (D)	 Kumarpala

	 75.	 {ZåZ{b{IV _| go {H$g ñWmZ go h_| CpÀMÌU Ho$ ê$n _| AmR> _mZdmH$ma AmH¥${V`m± àmßV hmoVr h¢ ?

	 (A)	H$mb} Jwhm	 (B)	 ^mOm Jwhm	 (C)	AO§Vm Jwhm	 (D)	 ZmZmKmQ> Jwhm
	 	 In which of the following places we get the traces of eight life-sized human figures as relief ?
	 (A)	 Carle cave	 (B)	 Bhaja cave	 (C)	 Ajanta cave	 (D)	 Nanaghat cave

	 76.	 ZrMo Xmo H$WZ {XE JE h¢ &
		  H$WZ – I : emX©ÿb d_m© H$m Zm_ AgraJ‹T> _wÐm boI go kmV hþAm h¡ &
		  H$WZ – II : ~‹S>dm boI EH$ `k-`yn boI h¡ &
		  Cn`w©ŠV H$WZm| Ho$ AmbmoH$ _| ZrMo {XE JE {dH$ënm| _| go ghr CÎma H$m M`Z H$s{OE :
	 (A)	H$WZ – I Am¡a H$WZ – II XmoZm| gË` h¢ 	 (B)	 H$WZ – I Am¡a H$WZ – II XmoZm| AgË` h¢ 
	 (C)	H$WZ – I gË` h¡, naÝVw H$WZ – II AgË` h¡ 	 (D)	 H$WZ – I AgË` h¡, naÝVw H$WZ – II gË` h¡ 
		  Given below are two statements.
		  Statement – I : The name of shardul varma has been known from the Asirgarh coin inscription.
		  Statement – II : Badawa inscription is a Yajna-Yupa inscription.
		  In the light of the above statements, choose the correct answer from the options given below :
	 (A)	 Both Statement – I and Statement – II are true	 (B)	 Both Statement – I and Statement – II are false
	 (C)	 Statement – I is true, but Statement – II is false	 (D)	 Statement – I is false, but Statement – II is true
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	 77.	 gyMr – I H$mo gyMr – II go gw_o{bV H$s{OE Am¡a gy{M`mo§ Ho$ ZrMo {XE JE Hy$Q> _| go ghr CÎma H$m M`Z H$s{OE &

		  gyMr – I				    gyMr – II

	 	 (amOm)				    (AmYw{ZH$ joÌ)

	 a.	 AÀ`wV			   I.	 {Xëbr Am¡a nydu n§Om~

	 b.	 ZmJgoZ			   II.	 _Wwam

	 c.	 JUn{VZmJ			   III.	 nX²_mdVr

	 d.	 H$moVHw$bO			   IV.	 A{hÀN>Ì

	 	 Hy$Q> :
		  a	 b	 c	 d
	 (A)	 I	 III	  II	 IV
	 (B)	 IV	 II	 I	 III	
	 (C)	 III	 IV	 I	 II
	 (D)	 IV	 III	 II	 I

		  Match List – I with List – II and select the correct answer from the code given below the lists.
		  List – I				    List – II
	 	 (King)				    (Modern Area)
	 a.	 Achut			   I.	 Delhi and Eastern Punjab
	 b.	 Nagasena			   II.	 Mathura
	 c.	 Ganapatinaga			   III.	 Padmavati
	 d.	 Kotakulaja			   IV.	 Ahichhatra

		  Code :
		  a	 b	 c	 d
	 (A)	 I	 III	  II	 IV
	 (B)	 IV	 II	 I	 III	
	 (C)	 III	 IV	 I	 II
	 (D)	 IV	 III	 II	 I

	 78.	 JwßV H$mb _| har \$gbm| go bh>bhmVo IoVm| Ho$ g_yh H$mo Š`m H$hm OmVm Wm ?

	 (A)	H¡$XmaH$			   (B)	 Ho$Xma-eñ`

	 (C)	~¡ho`			   (D)	 embo`
	 	 What was the group of fields brimming with green crops called during the Gupta period ? 
	 (A)	 Kaidaraka			   (B)	 Kedar-shasya
	 (C)	 Baiheya			   (D)	 Shaleya

	 79.	 Jm¡V_r ~blr H$s à{Vhmar H$m¡Z Wr ?

	 (A)	bmoQ>m	 (B)	 gwZÝXm	 (C)	 Hw$gw_bVm	 (D)	 Z`ZVmam
		  Who was the Pratihari  of Gautami Balashri ?
	 (A)	 Lota	 (B)	 Sunanda	 (C)	 Kusumalata	 (D)	 Nayanatara
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	 80.	 {ZåZ{b{IV emgH$m| H$mo CZHo$ emgZH$mb Ho$ H«$_mZwgma ì`dpñWV H$s{OE &
	 1.	OJXoH$_ëb
	 2.	{dH«$_m{XË` n§M_
	 3.	gmo_oída àW_
	 4.	O`qgh {ÛVr`

		  ZrMo {XE JE {dH$ënm| _| go ghr CÎma H$m M`Z H$s{OE :
	 (A)	 3, 1, 2, 4	 (B)	 2, 4, 3, 1	 (C)	 2, 3, 4, 1	 (D)	 3, 1, 4, 2
		  Arrange the following rulers according to their reign.
	 1.	 Jagadekamalla
	 2.	 Vikramaditya  – V
	 3.	 Someshwar – I
	 4.	 Jayasimha – II
		  Choose the correct answer from the options given below :
	 (A)	 3, 1, 2, 4	 (B)	 2, 4, 3, 1	 (C)	 2, 3, 4, 1	 (D)	 3, 1, 4, 2

	 81.	 _oJwVr _§{Xa {ZåZ{b{IV _| go {H$g g§àXm` go gå~pÝYV h¡ ?
	 (A)	d¡îUd	 (B)	 e¡d	 (C)	 ~m¡Õ	 (D)	 O¡Z

		  Meguti temple is associated with which of the following sect ?
	 (A)	 Vaishnava	 (B)	 Shaiva	 (C)	 Buddhist	 (D)	 Jain

	 82.	 {H$g emgH$ H$mo am_, Ho$ed, AOw©Z Am¡a ^r_goZ Ho$ Vwë` H$hm J`m h¡ ?
	 (A)	g_wÐJwßV			   (B)	 Hw$_maJwßV
	 (C)	Y«wdgoZ {ÛVr`			   (D)	 Jm¡V_rnwÌ gmVH$Uu

		  Which ruler is said to be equal to Rama, Keshava, Arjuna and Bhimasena ?
	 (A)	 Samudragupta			   (B)	 Kumargupta
	 (C)	 Dhruvasena – II			   (D)	 Gautamiputra Satakarni

	 83.	 ZrMo Xmo H$WZ {XE JE h¢ &

		  H$WZ - I : _§Jboe e¡d Y_m©db§~r Wm &

		  H$WZ - II : _§Jboe H$s{V©d_©Z² àW_ H$m nwÌ Wm &

		  Cn`w©ŠV H$WZm| Ho$ AmbmoH$ _| ZrMo {XE JE {dH$ënm| _| go ghr CÎma H$m M`Z H$s{OE :
	 (A)	H$WZ - I Am¡a H$WZ - II XmoZm| gË` h¢ 	 (B)	 H$WZ - I Am¡a H$WZ - II XmoZm| AgË` h¢ 
	 (C)	H$WZ - I gË` h¡, naÝVw H$WZ - II AgË` h¡	 (D)	 H$WZ - I AgË` h¡, naÝVw H$WZ - II gË` h¡>

		  Given below are two statements.
		  Statement – I : Mangalesh was a Shaivite.
		  Statement – II : Mangalesh was the son of Kirtivarman – I.
		  In the light of above statements, choose the correct answer from the options given below :
	 (A)	 Both Statement – I and Statement – II are true	 (B)	 Both Statement – I and Statement – II are false
	 (C)	 Statement – I is true, but Statement – II is false	 (D)	 Statement – I is false, but Statement – II is true
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	 84.	 {ZåZ{b{IV _| go {H$g A{^boI _| à{Vhma emgH$ {_{ha^moO H$mo à^mg H$hm J`m h¡ ?

	 (A)	g§OmZ Vm_« nÌ A{^boI			   (B)	 ½dm{b`a A{^boI

	 (C)	~mXb A{^boI			   (D)	 Xm¡bVnwa A{^boI
		  In which one of the following inscriptions, Pratihara king Mihirbhoja is called as Prabhasa ?
	 (A)	 Sanjan copper plate inscription	 (B)	 Gwalior inscription
	 (C)	 Badal inscription			   (D)	 Daulatpur inscription 

	 85.	 ZrMo Xmo H$WZ {XE JE h¢ &

		  H$WZ - I : MÝXobm| Zo {dÝÜ` joÌ _| emgZ {H$`m &

		  H$WZ - II : MÝXob JwO©a à{Vhmam| Ho$ gm_ÝV Wo & 

		  Cn`w©ŠV H$WZm| Ho$ AmbmoH$ _| ZrMo {XE JE {dH$ënm| _| go ghr CÎma H$m M`Z H$s{OE :
	 (A)	H$WZ - I Am¡a H$WZ - II XmoZm| gË` h¢ 	 (B)	 H$WZ - I Am¡a H$WZ - II XmoZm| AgË` h¢ 
	 (C)	H$WZ - I gË` h¡, naÝVw H$WZ - II AgË` h¡	 (D)	 H$WZ - I AgË` h¡, naÝVww H$WZ - II gË` h¡>
		  Given below are two statements.
		  Statement – I : Chandellas ruled in Vindhya region.
		  Statement – II : Chandellas were feudatories of Gurjara Pratiharas.

		  In the light of the above statements, choose the correct answer from the options given below :
	 (A)	 Both Statement – I and Statement – II are true	 (B)	 Both Statement – I and Statement – II are false
	 (C)	 Statement – I is true, but Statement – II is false	 (D)	 Statement – I is false, but Statement – II is true

	 86.	 àVrË` g_wËnmX _| Cpëb{IV OrdZ MH«$ Ho$ ~mah H$maUm| _| go {H$VZo nyd© OÝ_ go gå~pÝYV h¢ ?

	 (A)	àW_ nm±M	 (B)	 àW_ VrZ	 (C)	 àW_ Xmo	 (D)	 Ho$db àW_
		  Out of the twelve causes of life cycle mentioned in Pratitya Samutpada, how many are related to previous birth ?
	 (A)	 First five	 (B)	 First three	 (C)	 First two	 (D)	 Only first one

	 87.	 goZ amOd§e Ho$ emgH$ ~ëbmbgoZ Ûmam a{MV J«ÝW Wo :
	 I.	XmZgmJa	 II.	 Xeê$nmdbmoH$	 III.	AX²^wV gmJa	 IV.	 Xeê$nH$

		  ZrMo {XE JE {dH$ënm| _| go ghr CÎma H$m M`Z H$s{OE :

	 (A)	I Am¡a II	 (B)	 I Am¡a III	 (C)	 II Am¡a III	 (D)	 III Am¡a IV
		  The texts composed by Ballalsen, the ruler of the sena dynasty were :
	 I.	 Danasagar	 II.	 Dasharupavaloka	 III.	 Adbhuta Sagar	 IV.	 Dasharupaka

		  Select the correct answer from the options given below :
	 (A)	 I and II	 (B)	 I and III	 (C)	 II and III	 (D)	 III and IV

	 88.	 BãZIwXm©X~ Zo j{Ì`m| Ho$ {H$VZo dJm] H$m CëboI {H$`m h¡ ?

	 (A)	nm±M dJ©	 (B)	 VrZ dJ©	 (C)	 Mma dJ©	 (D)	 Xmo dJ©
		  How many classes of Kshatriyas have been mentioned by Ibnakhurdadaba ? 
	 (A)	 Five classes	 (B)	 Three classes	 (C)	 Four classes	 (D)	 Two classes
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	 89.	 _§{Xa Ho$ {ZåZ{b{IV CÜdm©Ya ^mJm| H$mo ZrMo go D$na H$s Amoa ì`dpñWV H$s{OE &
	 I.	O§Km
	 II.	H$be
	 III.	A{YîR>mZ
	 IV.	Am_bH$
		  ZrMo {XE JE {dH$ënm| _| go ghr CÎma H$m M`Z H$s{OE :
	 (A)	I, III, IV, II	 (B)	 II, IV, I, III	 (C)	 III, I, IV, II	 (D)	 IV, II, I, III
		  Choose the following vertical parts of temple from bottom to top.
	 I.	 Jangha
	 II.	 Kalasha
	 III.	 Adhishthana
	 IV.	 Amalaka
		  Choose the correct answer from the options given below :
	 (A)	I, III, IV, II	 (B)	 II, IV, I, III	 (C)	 III, I, IV, II	 (D)	 IV, II, I, III

	 90.	 {H$g J«§W go nVm MbVm h¡ {H$ CÎma Am¡a X{jU Ho$ ì`mnmar Amng _| EH$ ñWmZ na {_bm H$aVo Wo ?
	 (A)	g_amBÀN>H$hm	 (B)	 gw^m{fV aËZ	 (C)	 CndZ {dZmoX	 (D)	 Hw$db`_mbm
		  Which text shows that the merchants of the North and South used to meet at one place ?
	 (A)	 Samaraichchhakaha	 (B)	 Subhashit Ratna	 (C)	 Upavan Vinod	 (D)	 Kuvalayamala

	 91.	 gm_ÝVm| H$s Zm¡ lo{U`m± {ZåZ{b{IV _| go {H$g J«§W _| Cpëb{IV h¢ ?
	 (A)	A{^YmZ aËZ_mbm			   (B)	 Zr{VdmŠ`m_¥V_²
	 (C)	ema§JYa nÕ{V			   (D)	Anam{OV n¥ÀN>m
		  Nine categories of feudatories are mentioned in which of the following book ?
	 (A)	 Abhidhan Ratnamala			   (B)	 Nitivakyamritam 
	 (C)	 Sharangadhar Paddhati			   (D)	 Aparajit Prichchha

	 92.	 H$mË`m`Z Ûmam Cpëb{IV {Z`_m| Ho$ g§X^© _| {ZåZ{b{IV _| go H$m¡Z-gm H$WZ ghr h¡ ?
	 (A)	ñÌr H$mo CgHo$ ñÌr-YZ g{hV AMb gån{Îm Ho$ {dH«$` VWm Cgo {Jadr aIZo H$m A{YH$ma h¡ &
	 (B)	ñÌr H$mo ñÌr-YZ H$mo Zht ~oMZo {H§$Vw ñÌr YZ H$mo {Jadr aIZo H$m A{YH$ma h¡ &
	 (C)	ñÌr H$mo ñÌr-YZ H$mo ~oMZo H$m A{YH$ma h¡, {H$ÝVw ñÌr YZ H$mo {Jadr aIZo H$m A{YH$ma Zht h¡ &
	 (D)	ñÌr H$mo AnZr AMb gån{Îm H$mo ~oMZo VWm {Jadr aIZo H$m A{YH$ma XoVo h¢ {H$ÝVw ñÌr YZ H$mo Eogm Zht H$aZo 

H$m {ZX}e XoVo h¢ &
		  Which one of the following statements is correct with respect to the rules mentioned by Katyayana ?
	 (A)	 A woman has the right to sell and mortgage immovable property including her stri-dhana.
	 (B)	 A woman has the right not to sell stri-dhana but to mortgage stri-dhana.
	 (C)	 A woman has right to sell stri-dhana, but not to mortgage her stri-dhana.
	 (D)	 Gives a woman the right to sell and mortgage her immovable property, but not to do so to her stri-dhana.

	 93.	 ZrMo Xmo H$WZ {XE JE h¢ &
		  H$WZ - I : àmMrZ J«§Wm| _| AmR> df© H$s b‹S>H$s H$mo "Jm¡ar' Am¡a Xg df© H$s b‹S>H$s H$mo "H$Ý`m' H$hm J`m h¡ &
		  H$WZ - II : AnamH©$ Zo gVr àWm H$mo {Z§XZr` ~Vm`m h¡ & 
		  Cn`w©ŠV H$WZm| Ho$ AmbmoH$ _| ZrMo {XE JE {dH$ënm| _| go ghr CÎma H$m M`Z H$s{OE :
	 (A)	H$WZ - I Am¡a H$WZ - II XmoZm| gË` h¢ 	 (B)	 H$WZ - I Am¡a H$WZ - II XmoZm| AgË` h¢ 
	 (C)	H$WZ - I gË` h¡, naÝVw H$WZ - II AgË` h¡	 (D)	 H$WZ - I AgË` h¡, naÝVw H$WZ - II gË` h¡>
		  Given below are two statements.
		  Statement – I : Eight-year-old girl is called ‘Gauri’ and ten-year-old girl is called ‘Kanya’ in ancient texts.
		  Statement – II : Aparark has described the practice of sati as reprehensible. 
		  In the light of above statements, choose the correct answer from the options given below :
	 (A)	 Both Statement – I and Statement – II are true	 (B)	 Both Statement – I and Statement – II are false
	 (C)	 Statement – I is true, but Statement – II is false	 (D)	 Statement – I is false, but Statement – II is true
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	 94.	 {H$gZo Eo{Vhm{gH$ Ý`m` H$mo _yë`naH$ _mZm ?
	 (A)	S>r. _¢S>ob~m°_	 (B)	 ~Q>a{\$ëS>	 (C)	 Ho$. {n`g©Z	 (D)	AmoH$em°Q>
		  Who considered historical justice to be value based ?
	 (A)	 D. Mandelbaum 	 (B)	 Butterfield	 (C)	 K. Pearson	 (D)	 Oakeshott

	 95.	 Eo{Vhm{gH$ àË`jdmX H$m OZH$ {H$go _mZm OmVm h¡ ?
	 (A)	Hw$bm	 (B)	 ñH¡$\$	 (C)	 ãbmHo$	 (D)	 am§Ho$
		  Who has been regarded as the father of Historical Positivism ?
	 (A)	 Kula	 (B)	 Schaff	 (C)	 Blake	 (D)	 Ranke

	 96.	 `h {Q>ßnUr {H$gZo H$s h¡ {H$ ""B{Vhmg, CnÝ`mg go A{YH$ ê${MH$a hmoVm h¡'' ?
	 (A)	S>o{dS> øy_	 (B)	 Q>m°`Z~r	 (C)	 {bdr	 (D)	 Q>ogrQ>g
		  Who has remarked that “History is more interesting than a novel” ?
	 (A)	 David Hume	 (B)	 Toynbee	 (C)	 Livy	 (D)	 Tacitus

	 97.	 gyMr - II Ho$ boIH$m| H$mo gyMr - I H$s nwñVH$m| go gw_o{bV H$s{OE Am¡a gy{M`m| Ho$ ZrMo {XE JE Hy$Q> _| go ghr CÎma 
H$m M`Z H$s{OE &

		  gyMr - I 		  gyMr - II

	 a.	X Am°Šg\$moS>© {hñQ´>r Am°\$ BpÊS>`m	 1.	 Oo. S>ãë`y. Wm°_gZ

	 b.	E {hñQ´>r Am°\$ {hñQ>mo[aH$b amB{Q>§J	 2.	 [aMS>©g²

	 c.	{à§{gnëg Am°\$ {bQ>aoar {H«${Q>{gµÁ_	 3.	 ES>{dZ am°~Q>©

	 d.	X BH$m°Zm{_H$b BÝQ>a{àQ>oeZ Am°\$ {hñQ´>r	 4.	 pñ_W

	 	 Hy$Q> :
		  a	 b	 c	 d
	 (A)	 2	 3	 1	 4
	 (B)	 4	 2	 1	 3
	 (C)	 1	 3	 4	 2
	 (D)	 4	 1	 2	 3
		  Match the authors of the List – II with the books of the List – I and select the correct answer from the code 

given below the lists.
		L  ist – I		L  ist – II
	 a.	 The oxford history of India	 1.	 J. W. Thomson

	 b.	 A history of historical writing	 2.	 Richards

	 c.	 Principles of literary criticism	 3.	 Edwin Robert

	 d.	 The economical interpretation of history	 4.	 Smith
		  Code :
		  a	 b	 c	 d
	 (A)	 2	 3	 1	 4
	 (B)	 4	 2	 1	 3
	 (C)	 1	 3	 4	 2
	 (D)	 4	 1	 2	 3
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	 98.	 gyMr - I H$mo gyMr - II go gw_o{bV H$s{OE Am¡a gy{M`m| Ho$ ZrMo {XE JE Hy$Q> _| go ghr CÎma H$m M`Z H$s{OE &

		     gyMr - I 			   gyMr - II

	 a.	 ""VÏ` {OZH$m _¢ narjU H$a ahm hÿ±, _oar g_ñ`mAm| H$m 	 1.	H$m°{b§JdwS>

		  g_mYmZ hmo gH$Vo h¢ &''

	 b.	 ""^mdr nr‹T>r H$m ñda CgHo$ {bE B©ída H$m ñda h¡ Am¡a	 2.	Q>m°`Z~r

		  B{VhmgH$ma ^mdr nr‹T>r H$m ñda hmoVm h¡ &''

	 c.	 ""Eo{Vhm{gH$ VÏ`m| H$m ñdê$n M`ZmË_H$ hmoVm h¡ &''	 3.	~Q>a{\$ëS>

	 d.	 ""B{VhmgH$ma Ho$db CÝht Eo{Vhm{gH$ VÏ`m| H$mo ñdrH$ma H$aVm h¡	 4.	dmëe

		  {OZH$m	 gå~ÝY {dH${gV g_mO H$s gä`VmAm| go hmoVm h¡ &''

	 	 Hy$Q> :

		  a	 b	 c	 d

	 (A)	 1	 3	 2	 4

	 (B)	 4	 2	 1	 3

	 (C)	 1	 3	 4	 2

	 (D)	 4	 1	 2	 3

		  Match List – I with List – II and select the correct answer from the code given below the lists.

		L ist – I			L   ist – II

	 a.	 “The facts I am examining may be the solutions to my problems.”	 1.	 Collingwood

	 b.	 “For him the voice of posterity is the voice of	 2.	 Toynbee

		  God and the historian is voice of posterity.”

	 c.	 “Historical facts have a selective nature.”	 3.	 Butterfield

	 d.	 “The historian accepts only those historical facts	 4.	 Walsh

		  which are related to civilization of developed society.”

		  Code :

		  a	 b	 c	 d

	 (A)	 1	 3	 2	 4

	 (B)	 4	 2	 1	 3

	 (C)	 1	 3	 4	 2

	 (D)	 4	 1	 2	 3
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	 99.	 gyMr - I H$mo gyMr - II go gw_o{bV H$s{OE VWm gy{M`m| Ho$ ZrMo {XE JE Hy$Q> _| go ghr CÎma H$m M`Z H$s{OE &

		 gyMr - I 		  gyMr - II

	 a.	à`moJmË_H$ à{d{Y	 1.	 àmW{_H$ Ed§ {ÛVr`H$ òmoVm| H$m Cn`moJ

	 b.	H$m`m}Îma à{d{Y	 2.	 àíZmdbr

	 c.	dU©ZmË_H$ gd}jU à{d{Y	 3.	 _mZH$sH¥$V narjU

	 d.	Eo{Vhm{gH$ à{d{Y	 4.	 {deof A{^bjU narjU

	 	 Hy$Q> :

		  a	 b	 c	 d

	 (A)	 1	 3	 2	 4

	 (B)	 3	 4	 2	 1

	 (C)	 1	 3	 4	 2

	 (D)	 4	 1	 2	 3

		  Match List – I with List – II and select the correct answer from the code given below the lists.
		L ist – I		L  ist – II
	 a.	 Experimental method	 1.	 Using primary and secondary sources
	 b.	 Ex-post-facto method	 2.	 Questionnaire
	 c.	 Descriptive survey method	 3.	 Standardized tests
	 d.	 Historical method	 4.	 Typical characteristics tests

		  Code :

		  a	 b	 c	 d

	 (A)	 1	 3	 2	 4

	 (B)	 3	 4	 2	 1

	 (C)	 1	 3	 4	 2

	 (D)	 4	 1	 2	 3

	100.	 ""B{Vhmg Ho$db KQ>ZmAm| H$m g§H$bZ Am¡a ImoO Zht h¡, A{nVw Cg_| {Z{hV H$m`©-H$maU à{H«$`m H$s JdofZm ^r h¡ &'' 

`h H$WZ {H$gH$m h¡ ?
	 (A)	H$ma	 (B)	 hoJob	 (C)	 H$m°{b§JdwS>	 (D)	 H«$moMo

		  “History is not only the collection and discovery of events, but also the exploration of the causal process 
involved in it.” Whose statement is this ?

	 (A)	 Car	 (B)	 Hegel	 (C)	 Collingwood	 (D)	 Croche
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